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ACCOUNTING ACC1
Unit 1 Financial Accounting:
The Accounting Information System

Wednesday 7 June 2006 1.30pm to 2.30 pm

You will need no other materials.
You may use a calculator.

Time allowed: 1 hour

Instructions

e Use blue or black ink or ball-point pen.

Fill in the boxes at the top of this page.

Answer all questions.

Answer the questions in the spaces provided.

All workings must be shown and clearly labelled; otherwise marks for

method may be lost.

Make and state any necessary assumptions.

e Do al rough work in this book. Cross through any work you do not
want marked.

I nformation

e The maximum mark for this paper is 80.

4 of these marks are for the Quality of Written Communication.

e The marks for questions are shown in brackets.

e You are reminded of the need for good English and clear presentation
in your answers. Some questions involve only numerical work; all
other questions should be answered in continuous prose. Quality of
Written Communication will be assessed in al prose answers.

G/J150681/Jun06/ACC1

ASSESSMENT and
QUALIFICATIONS

ALLIANCE

For Examiner's Use

Number| Mark |[Number| Mark
1 5
2
3
4

Total (Column 1) |_>

Total (Column 2) ——»

Quiality of Written
Communication

TOTAL

Examiner’s Initials

ACC1


http://www.studentbounty.com
http://www.StudentBounty.com

'SJUNO2Je JBbpPa| [eJseusb ay) 01 SJUNoXsIpayl 1sod  (0)
"900¢ Asenige- T e Ssoue(eq 8yl umop Bulig pue yiuow ay) Jo pus 8yl e %00q ysed syl soueed  (q)

"9A0Qe PapIA0Id uoIfewIo Ul 8Y) W) 900z Aenuer Jo yiuow ayl Jo) € affied uo »ooq yseo syl aredald ()

a3diNo3y
g
3
= jueq 8y ojul pred sem ‘057 Jo Teo|j e 1d90Xe ‘puey Ul useo | ‘Alenuer TE UO
m 8rZ P17 0D pue uoleQ O WOl Bjsuel 1paID 174
& 82 sueq Aq pebleyd 1seeiu | 12
m 00¢ Se9) ysiig o1 JepJo Buipuels 0c
N = 'SWa}l feuonippe BuImo||o) 8y} pafeansl Akenuer 82 UO POAIBIRI JUSLRIEIS Mueq
m (4] S9fes uyseD 8¢
B L used u1 sa/ojdwe awn-1ed Jo sefem pred 12
& ¢aL Sofes Used b
T 99¢ *BLIOISND 8Y) AQ Usel Usaq pey #7F JO Junodsig Mueq olul pred umolg g wouy anbay) e
W oSty anbayo Ag 1ual pred T
c 199 Mueq olul pred peay ¥ wou) anbayd 9
< 9T /9TF 10} d10AU| Ue JO JusWR [119s Ul salddns 801440 uoy|ig 03 pred anbay)d Z
oecT aoUe eq Yueq umelpenQ
05 JUNo2Je ysed Ul aoueeq T
F Arenuer
'900¢ Adenuer
0] kP4 S|kePp buimo|jo)ayl ‘weisAs Buldsayooq Anus-a|gnop SIy Jo Led Se %00q Ysed uwin|02-8a1Y) e Sasn uey )| tewsn

Sy few Qg :uonsanb syl Joj [eiol

G/J150681/Jun06/ACC1


http://www.studentbounty.com

F S|erd 900¢card| 3F S|rerd 900¢ @red F S|ekled 900Zc9rd| 7 S|ekled 900¢ @red
jlo) JUNOJ2Y PBARIDY SIUNOJSI( ial (n JUN022Y PAMO| | SIUNCISI 1d
F F F s|eRrd 900¢ uer 7 7 7 s|eRq 900¢ uer
Nueg | used | junodsig areq ueg | used | Iunodsid arq
1D id

3009 UseD ey Uewsn

Turn over »

G/J150681/Jun06/ACC1


http://www.studentbounty.com

2 A trainee accountant produced a draft profit and loss account which showed a net profit
for the year ended 31 March 2006 of £17 690. Her supervisor subsequently discovered
the following errors.

(1) The purchases day book had been undercast by £520.
(2) The cost of repairsto adelivery van of £450 had been debited to the motor vehicles
account.
(3) A payment of £500 for insurance had been completely omitted from the accounts.
(4) A cheque for £2300 received from B Harrison, a debtor, had been credited to the
account of B Harris.
(5) Discount received of £1300 had been charged as an expense in the profit and loss
account.
(6) The closing stock had been recorded in the trading account as £3000. The correct
figure was £300.
REQUIRED
(@ Calculate the correct net profit. Show clearly whether each adjustment is added,

subtracted or has no effect on the profit calculation.
Correction (1) has been completed as an example.

Corrected net profit for the year ended 31 March 2006

Net profit as given 17£690

(1) Purchases undercast subtract 520

17 170
(2) ettt E bR £ AR e R bRt e e bbbttt b et
) S
TSRS
65 ISR
(5 SRS SR PP U PT
COrreCted NEL PrOFIT ......eieeeeieeee ettt e e sene s
(7 marks)
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(c) Evauate the extent to which the use of computer accounting software can eliminate
bookkeeping errors.

Turn over »
G/J150681/Jun06/ACC1L


http://www.studentbounty.com

Total for this question:

Aston Suppliers offers both trade and cash discounts to customers.

REQUIRED
(@) Explain the following terms.

B0 SX o 1S 010 | 0| AR
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Aston Suppliers recently supplied goods to a customer on the following terms.
Price of goods before all discounts and VAT £2500
Trade discount agreed 20%
Cash discount offered 2%
VAT 17.5%
REQUIRED

(b) Calculate the total amount of the invoice, including VAT, for these goods, showing al
your workings.

INVOICE IOl £ ...

LAY o SR

Turn over for the next question
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4 The following information relating to the month of May 2006 has been extracted from the
subsidiary books of W G Shrubb on 31 May 2006.
£

Sales day book 43 500

Purchases day book 28 900

Returns inwards day book 625

Returns outwards day book 1340

Discounts allowed 425

Discounts received 780

Payments received from credit customers 35 600

Payments made to credit suppliers 17 680
The general journal also showed that on 15 May 2006, a debit balance of £560 in the
sales ledger was set off against a credit balance in the purchases ledger (contra entry).
At 1 May 2006, there was a debit balance on the sales ledger control account of £12 560.

REQUIRED

(@ Prepare the sales ledger control account for the month of May 2006. Bring down the
balance at 1 June 2006.

Sales L edger Control Account

Dr Cr
Date . Date .
2006 Details £ 2006 Details £

(7 marks)
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REQUIRED
(b) Explain one benefit of using control accounts.

Turn over for the next question
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10

Total for this question:

The following is the trial balance of P Pann at 31 December 2005.

Wages and salaries
Purchases and sales
Carriage outwards
Returns

Motor vehicle
Trade debtors
Discounts

Stock at 1 January 2005
Trade creditors
Carriage inwards
Bank overdraft
VAT

Capital

Additional infor mation

Dr
£

29 000
65 000
3 000
2 000
38 250
25000
2 000
22 000

2500

188 750

125 000

4 000

5000

8 000

4 500
2250
40 000

188 750

At 31 December 2005, the closing stock was valued at £12 500.
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11

REQUIRED

(@) Prepare the trading and profit and loss account for P Pann for the year ended
31 December 2005.
P Pann
Trading and Profit and L oss Account for the year ended 31 December 2005

(13 marks)

Question 5 continues on the next page

Turn over »
G/J150681/Jun06/ACC1L


http://www.studentbounty.com

12

(b) Explain two differences between fixed assets and current assets. Give one ex

of each.
DL = = 1o USSP
(2 marks)
DL = = 10 USSP
(2 marks)
Example Of @fiXed SSEL .......ccoiiiiee e e
(1 mark)
EXample Of @ CUIMENE @SSEL .......ccooiiieie e e
(1 mark)

(c) Explainthe term long-term liabilities. Give one example.
(o] = o o PSR
(2 marks)
EXBIMPIE ..o ettt e e
(1 mark)
22
END OF QUESTIONS
Copyright © 2006 AQA and its
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